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BERE FHE(A) SRE(B) =2(A)-(B) =

BEEA 145, 526, 000 153, 565, 268 -8, 039, 268

| [EERmH R 100, 000 20,000 80, 000
2|, [EEnemssnA 15, 000 15, 988 -988
B | zotoRA 1,462, 000 1,570, 895 -108, 895
i’ BEEBIRAG (1) 147, 103, 000 155, 172, 151 -8, 069, 151
o] [nermz 112, 540, 000 131, 758, 706 =19, 218, 706
3 | |memm 11, 980, 000 11,593,015 386, 985
IR | | Emmy 14,583, 000 22,523, 048 ~7,940, 048
2| [mmEmmat (2) 139, 103, 000 165, 874, 769 26, 771, 769
BEEDERINEESR (3) = (1) - (2) 8,000, 000 10, 702, 618 18,702, 618
2|1y |EEEmEssaRA 0 3, 300, 000 -3,300, 000
1)\ | psassmangt (4) 0 3,300, 000 -3, 300, 000
MEIEE 0 3,013,319 23,013,319
||t (5) 0 3,013,319 3,013,319
3 [fEEmEERNEER (6) = (4) - (5) 0 286, 681 ~286, 681
" | g [ e ERARAR A 0 11, 000, 000 ~11, 000, 000
sz | A [zotoEsmeAst (7) 0 11, 000, 000 11,000, 000
8| % [ErEExE 8,000, 000 0 8,000, 000
| [zoeoEmz LT (8) 8,000, 000 0 8,000, 000
* eomoEnasREEE (9) = (7) — (8) -8, 000, 000 11, 000, 000 =19, 000, 000
FHRERE (10) 0 0

0

LA EEAT (11) = (3) + (6) + (9) — (10) 0 584, 063 ~584, 063
MR ERRES (12) 17,126, 970 17,126, 970 0

LEIRRIEEES (11) + (12) 17,126, 970 17,711,033 -584, 063




